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Quiz #3  Oct. 25, 2000

1.
(10 pts) The largest seasonal changes would probably be 


observed at Point _______ on the map at right.  The hottest 


summers would be found at Point _______.

2.
(5 pts) In an airplane at 30,000 feet altitude you are above about 70% of the atmosphere.  At that altitude you might expect the sky to appear  DARKER  BRIGHTER  than it does at sea level.

3.
(15 pts) When you warm a parcel of air, _______ and _______ will decrease, _______ and _______ will remain constant, and _______ and _______ will increase.


a. saturation mixing ratio
b. parcel volume

c. mixing ratio


d. pressure


e. relative humidity

f. parcel air density
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4.
(5 pts) Health professionals recommend that people let the length of their


shadow tell them when to avoid intense sunlight and thereby lessen the risk 


of sunburn.  Do you think the recommendation would be that you should stay 


out of the sun when the length of your shadow is  SHORTER than  or  


LONGER  than you are tall?

5.
(10 pts) Direct continuous measurements of atmospheric concentrations show that CO2 concentrations are somewhat  HIGHER  LOWER  in the winter than in the summer.  From year to year have CO2 concentrations been  DECREASING,  remaining  CONSTANT,  or  INCREASING?

6.
(15 pts) You would expect a radiation inversion layer to form on a long  CALM  WINDY night when the skies are  CLOUDY  CLEAR  and the ground cools  SLOWLY  RAPIDLY.

7.
(5 pts) Mean global surface temperatures have increased about 0.45o C (0.8o F) in the past 130 years or so.  Many scientists attribute this to

a. increasing concentrations of greenhouse gases


b. increased amounts of ultraviolet radiation at the ground due to depletion of the ozone layer


c. population increases and growth of urban areas


d. slight changes in the shape of the earth's orbit around the sun

8.
(15 pts) In Tucson the days (daylight hours) are 12 hours long or longer between _____ and _____.  In Tucson the length of the days (daylight hours) are increasing between _____ and _____.  The sun will be overhead at noon at 23.5o N latitude on _____.  There are 24 hours of daylight north of the Arctic circle on _____.  The sun will rise in the northeast in Tucson on _____.

a. September 21
b. December 21
c. March 21

d. June 21

9.
(10 pts) Compared to a night with dew, a night with frost is _______ and _______.


a. colder

b. warmer

c. drier


d. moister
10.
(10 pts) The world's cold temperature record (-129o F) was set on July 21, 1983 in Antarctica.  In addition to high southern latitude, list two additional factors that would contribute to this extreme reading.

11.
(10 pts) The solute effect  INCREASES  DECREASES  and the curvature effect  INCREASES  DECREASES  the rate of evaporation from a small droplet of water.

12.
(10 pts) Use the chart and information at right to determine 


T
rS 


the mixing ratio and relative humidity of air that has a temperature
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of 80o F and a dew point of 60o F.
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13.
(10 pts) Which two of the following are true?


a. during the day the ground warms more quickly than the air above


b. during the day the grounds warms more slowly than the air above


c. at night the ground cools more slowly than the air above


d. at the night ground cools more quickly than the air above
14.
(10 pts) _______ removes carbon dioxide from the atmosphere.  _______ has the highest rate of release of CO2 to the atmosphere.


a. natural processes of respiration and decay

b. combustion of fossil fuels


c. photosynthesis




d. deforestation
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15.
(10 pts) The sun will follow path _______ in the figure at right in


Tucson (32o N) on the equinoxes.  In Sydney Australia (32o S) the


sun will follow path _______ on the equinoxes.

16. 
(5 pts) The blue color of our sky is best explained by


a. the chemical composition of the earth's atmosphere


b. the size of the gas molecules in the atmosphere


c. the temperature and kinetic energy of the gas molecules in the atmosphere


d. the thickness of the atmosphere and the distance between the earth and sun

17.
(5 pts) Visibility usually seems much improved after stormy and rainy weather.  This is because


a. cloud droplets form on particulates and rain carries them to the ground


b. the colder air that follows a storm can't contain as much water vapor


c. winds that accompany a storm mix air next to the ground with air higher up

Extra Credit (up to 10 pts)

1.
Warm weather and _______ will often make it feel hotter than it really is.  Cold temperatures and _______ make it feel colder than it really is.

2. 
The sun will pass overhead at noon at 23.5o N on the summer solstice.  Would you expect this to be a fairly  WET  or  DRY  time of year?

3.
Air that is brought indoors and heated in the winter will often have a very  LOW  HIGH  relative humidity.
